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(since the numerator is bounded by +1 and the denominator grows

without bound)
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(It is easier to plug in (1,-1) before solving for dy/dx above.)
Tangentline : y = y; + m(x — xy) gives y=-1+3(x-1),
or y=3x-4.
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(So if the mean outside temperature increased from 50° to 51°, we would
expect the daily cost to heat the house to drop by approximately $0.15.)

9. No solution provided.
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11, 12. No solutions provided.
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14. Graph (c) is the derivative of graph (b) and graph (d) is the derivative of graph (a).
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17. Find the inflection point between the points where the slope is zero.

1. Get the derivative: y’ = -3x"2 + 6x + 9 (Setting the derivative to zero will get you
the points where the slope is zero)

2. Get the 2" derivative: y” = -6x + 6. Setting it to zero, x = 1. The maximum rate of
change occurs at x = 1], where y = -16. (Note that this gives the maximum of y’.)

18. No solution provided.
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21. No solution provided.
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25. No solution provided.






ERROR: undefined
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